194

B Flange Mtg. Two Bolts:ABHG37-FR14K-E1C/E2C/U1C/U2C/J1C

_ . Flow Adj. Screw 273 Filling Port*”
Load Sensing Port ™ 17 Hex. (\ 2475 22 Hex. Head Plug Furnished
M14x1.5 DEC. | | Fully Extended
(With a plug) Isind1 (éover 203.5 Drain Port
Pilot Port*” 67 Hex. 1. Sovonr Pilot Port /“C’Thd. 1 0ad Sensing Safety Valve
M14x1.5 Thd. 59 Jlex. B Derew per—r 42,5 D Differencial Press. Pressure Adj.
(With a plug) \\ Plain Washer ‘ Load Sensing Port Adj. Screw 16.5 Screw
[ T iy 71.5 E 13 Hex. /14 Hex
i / F (e, (e
0w [ ]
32 = o
3= | A 9
o0 |
Suction Port N é, s . = AL«
SAHe S =SEEEE
N4
> H - d
A" N L “N” Thd.
“Bg" rg;gp Discharge Port 27.8 13 “P” Deep
24 Dia. 198
4Pl
aces . 251
198 “A1” Thd. “B1” Deep [ Attachment Side
View Arrow X 4 Places % 1. Remove the plug (6 Hex. Soc.), install piping with refering to the graphic symbol on page 191.
2. Remove the plug when using the port (6 Hex. Soc.).Also the pilot port adapter is not standard
Surface of Surface of . X o i
Suction Port. Discharee Port. accessory, so it must be ordered separately refering to the “Pilot Port” on page 179.
uction Port 1scharge Fo 3. Install the pump so that the "Filling Port" is at the top.
Model Numbers | Al | A2 |BI [B2| C D|E|F H J K L|N|P Q R || Mounting Flange | Comecting | Fipe Flange

Port Threads
A3HG37-FRI4K-EIC/E2C|M12 | M10 | 22 | 18|M22X1.5] 52 | 9 | 36 | 257099% | 2870995 [10000ss [42|M8| 19 |8 $o36 | 140 || Conforms 015030192 Metric | Metric

A3HG37-FRI4K-UIC  |7/16-14UNC| 20 | G1/2 |46 |9.7| 32 |254 005 [28.180,5[101.6 005 |38 o, | 16635 *093 1146 ||Conforms 0150 3019-1| Unified | Unified
A3HG37-FRI4K-U2C  [M12| M10| 22 [18| G1/2 | 46 |9.7| 32 | 254 Qo5 |28.18 5 15| 101.6 005 |38 %ﬁ\l o 16 | 6.35 %)% | 146 ||Conforms to1503019-1| BSPP | Metric
A3HG37-FR14K-J1C MI2| MI0| 22 [18| G 1/2 |46 97| 32 | 254 Qo5 |28.18 4] 1016 0os |38 16 | 6.35 %99 | 146 | Conformst01S03019-1]  Rc Metric

M Flange Mtg. Four Bolts:ABHG37-FR14K-E1D/E2D/U1D/U2D/J1D

‘ Flow Adj. Screw 258.5 Filling Port™’
Load Sensing Port *' 17Hex.(\ 233 22 Hex. Head Plug Furnished
M14x1.5 DEC. Fully Extended
(With a plug) End Cover uly )Eltgré c Drain Port
Pilot Port *2 67 Seal Cover Pilot Port / /" “C” Thd. Load Sensing Safety Valve
M14x1.5 Thd. 59 He)}. Hd. Screw 128 D Differencial Press. Pressure Adj.
(With a plug) Plain Washer Load Sensing Port Adj. Screw . 165 Screw
[ 57 E 13 Hex. 14 Hex.
oM 20 Cine. > Cine

F Dia.

0
)
o

Suction Port

“AD” Thd. K U Thd.
“B2” Deep Discharge Port 27.8 13 N” Deep
4 Places 30.2 24 Dia. | / 183.5

236.5

183.5 -
- “A1” Thd. “B1” Deep / Attachment Side
View Arrow X

4 Places 1. Remove the plug (6 Hex. Soc.), install piping with refering to the graphic symbol on page 191.
2. Remove the plug when using the port (6 Hex. Soc.).Also the pilot port adapter is not standard

Surface of
% % accessory, so it must be ordered separately refering to the “Pilot Port” on page 179.
3. Install the pump so that the "Filling Port" is at the top.

. Connecting | Pipe Flange

Model Numbers Al | A2 |Bl B2 © D | E If! H J K L |N P Q Mounting Flange Port Threads
A3HG37-FRI4K-EID/E2D|M12 | M10 | 22 | 18 |M22X1.5] 60 | 9 |32 9018 | 35%0%8 | 125 Does| 50 | M10 | 22 |10 0036 | 1132 ||Conforms 101503019-2| Metric | Metric
A3HG37-FRI4K-UID  |7/16-14 UNC| 20 G 1/2 | 56 |12.7]31.75 005 | 35320 15| 127 505 | 48 19 | 7.94*39 | 1145 ||Conforms t01S03019-1| Unified | Unified
ASHGIT-FRI4K-UD  |M12| M10[22 18] G122 | 56 |12.7)3175 8 s | 35329, | 127 S0s | 48 |[Tnge'® 19| 70470 | 1145 ||conforms 015030191 BSPP | Metric
A3HG37-FRI4K-JID MI2| MI0| 22| 18| G1/2 |56 [12.7]31.75 0,5 [ 3532015 | 127 005 | 48 19 | 7.94*395 | 1145 ||Conforms 01S03019-1| ~ Re Metric

M Load Sensing Port/Pilot Port
Load Sensing Port is common to that of Pilot Port(except the height dimension from the center of the pump).
Refer to page 179 for the dimensions of Pilot Port.

M Drain Port

Drain Port is common to that of pressure compensator model Refer to page 168 or 169 for the dimensions of Drain Port.

M Foot Mtg.:A3BHG37-LR14K-E1C/E2C/U1C/U2C/J1C, ABHG37-LR14K-E1D/E2D/U1D/U2D/J1D

Mounting bracket is common to that of pressure compensator model (except max height dimension).
Refer to page 168 and 169 for the dimensions of mounting bracket.

A BERG) Series High Pressure Variable Displacement Piston Pumps
Load Sensing Type




